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11, Which two statements best explain the adults' reactions to Oliver's request?
1. They were appalled by his disobedience.
2. They only wanted to spend the bare minimum on feeding the boys.
3. They were rightened that he would eat all of their food.
4. They had never spoken to a child before.
= a.1and3

— b.2and3
= c2anda
= d.3and4
= eland2
12. Which character does the author intend to be the reader’s favourite?
> a. M Bumble
© b.assistant number one
= c. M. Limbkins
= d.Oliver
= e. the son of the cook-shop owner
13. Which of the following i the best antonym for ‘consequence’ in line 27
= a.effect
= b.reaction
= c atermath
= d.cavse.
= e.sequential
14. Which of the following i the best definition for r
el oy "m:':l tdefinition for ‘stupefied! in line 407
= b unable to think properly
= c.excited and enthusiastic
= d. able to move very quickly
= e. contentand calm
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“Please, ir,| want some more.” Vhat e
3 ine 38) What s this o e
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